ECON 0100 | Part F

Vignette F1

Molly's Budget
Molly Weasley recent »stwgan hourly wage job as a Herbologist at a large Herbology firm and divicz\esthsr in{~
come between ¥e§l§¥%&e~pu&dmgs and roast beef sandwiches (both of which are normal goods).w [o"g{‘(‘ﬂf

_sumer‘sprebtems below, show Yorkshire puddings-on the horizontal axis and roast beef sandwiches on the vertical
s bottAge~

Question 1 | A Successful Herbologist
Molly is very good at her job and receives a raise. Use a graph to show what would happen to Molly’s budget con-
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straint after her raise.
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Question 2 | New-Yorkshire Pudding Stands raoct \>eef'

Use two graphs to show what would happen to Molly’s budget constraint if the number of stands selling ym_ksh.u:e %
pueding were to inerease. cle[/wd%
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Question 3 | 7> Holi "t‘{y QJ@Z
to—produce-more

Surprisingly -recent-eow yv}/ulduunb tave been healthier and more productive, leadmg Tarmers—+

] gilas y)
beef-an Lxlaxculcllt gigl IUUDL‘KCCL sana vnmC{lvTT“‘l’"”" “’"“"‘LQ to “L‘ OW-ROwW-tNiSCnange w Uuluj.lllt}u\.l,‘} "3"1’ sbud O'F‘f

Ml Soward  slutte ootfor b tberkeer.
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